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280 |1312 A017 (1312 A018 1,017 [trubni 1 1,10|K 3,80| 12,00| 0,20]|stav - 1, vlevo svodnice
280 |1312 A017 (1312 A018 1,343 |kamenny klenuty mlynsky nahon 1 1,95| 0,50 S 1,55 9,00| 0,00|stav - 2
280 |1312 A017 (1312 A018 1,395 |kamenny deskovy u rybnika 1 1,90( 1,00 S 1,42 11,80 0,05|stav - 1, 2005
280 |1312 A017 |1312 A018 1,678 [trubni za hrbitovem 1 0,30(K 1,00 0,00|stav - 3,vpravo zatrubnén
280 |1312 A017 (1312 A018 1,747 |trubni 1 0,40|S stav - 3
280 |1312 A017 (1312 A018 1,879 [trubni za zatackou 1 0,40|K 1,20 8,00| 0,00|stav - 2
280 |1312 A017 (1312 A018 2,255 |trubni za obci 1 1,00(S 2,10| 13,00| 0,01|stav -2
280 |1312 A017 (1312 A018 3,055 |trubni 1 1,20(S 2,00 8,00| 0,05|stav - 1, svodnice
280 |1312 A018 (1312 A019 0,232 |trubni 1 0,40|K stav - 2
280 |1312 A018 (1312 A019 0,533 |trubni konec obce Ledkov 1 0,40|K 1,20 8,00| 0,02|stav -3
280 |1312 A018 (1312 A019 1,221 [trubni vtok vpusti 1 0,40|S 1,20 9,00| 0,01|stav-3
280 |1312 A018 (1312 A019 1,385 [trubni v zataéce 2 0,50|K 2,00 9,00| 0,02|stav -2
280 |1312 A018 (1312 A019 1,933 [trubni pred obci Kopidlno 1 0,50|S 1,10 9,00| 0,00|stav - 3
280 |1312 A019 (1312 A006 0,497 |trubni 1 0,50|K stav - 3




